


3 (Sem-3) ALT ENG

2 0 14

ALTERNATIVE ENGLISH

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following ; 1x10=10

(a) Who owns Pemberley estate in the

novel, Pride and Prejudice?

(b) Name the youngest daughter of
Mr. Bennet.

(c) Name the river associated with The
Adventures of Tom Sawyer.

(d) ̂ What is the first job given to Tom by
Aunt Polly?

(e) Who is the author of The Gold Bug?

(f) What does William Legrand bring from
the forest?

(g) How does the first littlun disappear?
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(h) Who were given the responsibility of
maintaining the signal fire in Lord of the
Flies?

(i) Who is Janamohini in the story
narrated by Shanti?

(j) What is the profession of Frankie
Furtado?

2. Answer i^five of the foUowing questions :
2x5=10

Where do the Bennets Uve?

(b) What is the 'sole occupation' of
Mrs. Bennet?

(c) What does Tom do to impress Judge
Thatcher at the Sunday school?

(d) What does Legrand scribble/draw on a
piece of paper for his Mend?

(e) Who discovered the conch shell? What
role does it play?

(f) What was Simon's idea of the beast?

(9) Why was Shiv Subrmnaniam sent away
by his parents to stay with his sister
and brother-in-law?

A15—5000/281 ( Continued)
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3. Write short notes on any four of the
following : i 5x4=20

(a) Mrs. Beimet (Pride and Prejudice)

(b) Injun Joe [The Adventures- of Tom
Sawyer)

(c) The death's head (The Gold Bug)

(d) The character of Piggy (Lord of the Flies)

(ej The Sunday school (The Adventures of
Tom Sawyer)

(f) The marriage of Mr,. Collins (Pride and
Prejudice)^

(g) The man with the ̂bluest eyes' (Shanti)

4. Answer any four of the following questions :

10x4=40

(a) Discuss Jane Austen's treatment of love

and marriage in Pride and Prejudice.

(b) What did Tom and Huck witness at the

graveyard? What was the impact of this
incident on thern?

(c) Attempt a character-sketch of

Huckleberry Finn.

A15—5000/281 ( Turn Over )



( 4 )

(d) Comment on the role played by Jupiter
<  in The Gold Bug.

(e) Assess the significance of Lord of the
Flies as a conflict between civilized
instiiicts and savage implulses.

(f) - Comment on the title of the novel, Lord
of the Flies.

(g) What is the significance of the story of
Janamohini as narrated in the story,
Shanti?

(h) What happens to the village children
after the arrival of Anuna's engineer son
as narrated in the story, SharOi? How
does Amma resolve the crisis?

***
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PSYCHOLOGY

( General )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions/Fill in the
blanks : lxio=10

(a) What is development?

(b) What does the heredity determirie?

(c) Growth is .

—I

(d) Both X and Y chromosomes are found
in .,

(e) The' early period of existence of an
individual is known as ——

<ll<| I
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(f) In social develoi)ineht, the age group of
early childhood is termed as .

<^\ 1
'  ' ' f' ' I'

(g) Walking of the child is the result due to

C^ -.^ I

(h) The most popular activity of nowadays
found in early cMdhood is ——.

'

(i) Babyhood is known as .
I

0) Which stage is considered as storm
period?

2. Write very short answers of the following
questions : 2x5-10
V5»R •

(a) What is meant by maturation?
*7

(b) What is heredity?

,. (c) What , is meaiit ., by. ̂ developmental
psychology? r 1% ,

'0:C^rvtinue(t)

( 3 )

(d) What are the serisory capacities of the
neonate?

'saiC'iBril ■'WtoR 1% 1% ?

(e) What are the substages of puberty?
2nf^ ? .

3. Write notes on any four of the following :
5x4=20

mRUk :

(a) Difference between development and
growth

"SIT^

(b) Physical characteristics of the neonate

(c) Role of discipline in moral development

(d) Developmental tasks

(e) Physical changes during babyhood

(f) Adolescent social groupings
c^ni^

4. Answer any four of the following questions :
10x4=40

1^ C<Pl<.ll 21*14 "Ppd :
(a) Discuss the nature and characteristics

of development.^
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(b) Explain tKe process of conqfeption and
describe the different types of birth.

2R5K

(c) Discuss the developmental tasks of
babyhood.

(d) Why is late childhood considered as
'gang-age? Discuss.

^ 'w wt' lipr wnT %r

(e) "Early childhood is a critical age."
Discuss.

WiTR Wf l"

I

(f) What are the characteristics of the
period of puberty?
^•iJI<Pl«T^ CsRSjC^JI'^ 1^ ?

(g) Why has play an important role in
babyhood? Discuss.

^faj<p| ̂ 5n^7
^icenio-ii ̂  I

(h) Give an account of the changes in
family relationships during adolescence.

★ ★ *
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The figures in the margin indicate full marks
for the questions.

Answer in Bodo.

I., PbHdf) lit# "q^rT :

1x10=10

(W) "f^l^RFT ■RiPfWi wit ipft?
'i' • - . ' . I - ■ . V' '

(■®) "gnPi w ?

(n) "RT "Ri

(■Ef) ^ sirara 'jihh") ?R^f ?

(.w) 'RMf^ 'sn# ?

"RrafR 'Rrai
3pn^ ?

(^) Management ^ ?

Contd.



(■^) Graduate "m ?

(■^) 'HichiR «Tn§Fr Tqr "tt
Rh^-M dlRdcJf I

(^) tti tJri^ R^hhI'M ^g^TOki "nrfe ?
n ' • '* ' ■» » '

2. 'II^I^Ih «t<^4?H:<^ :, 2x5=10
(^) TJirarPrar mni(<4h ?

(^)' iblyMfcj-fliJIcl'ilT Tqr ?

(•^) >hl«|c|l<HWI ■'tRR f^ ■RRlt^ -q^
?Pit ?

(■q) . ̂  ̂I^rc# irafWlH -ilWHIil ^ "^RPlfir
'  ' ■3n#T iTt^ 1^1

'  ■ ■ ■ ' ^ ' ■ ■ ■ ^ J-"

Cw) nh^l^4^<l -HIcdHI W ^ %TT 7

3. "HlfFTpf "5^ ^nRs «ip?T nh^Ft :
4x5-20

(^) HHlft ?

(■^) TimrqM^ "wm HM\k
,  : .' , <rl4 ? .

("n) 7#^ (Private Sector) Wi^tXlR
<l^lP«RRr oiiqlqT .?

4(Scm 3) FBOD II/G '2

(^) WTR A)HHI4 ^
.  TIT ?

•snrrmqiteA

(■^) airt ^ wttRtPt -wif^ i

4. "#n^ ^TtRt^ ftRTTT^r : 10x4=40

(^) rcigH>3iHl4 (^T^)
tAhHNIcI wR[ fell 10

^ - ,

•  "ni^ wrR ^A<i^iR'dl-^lRi (Public
^  *' Sector) ^8TT^ TRTI^ Ac1«Ac3^31T^T

^iql 1^ I • 10

(71) #nTT #^Tsr#[RT
"sr' ■^?iT (WTfia^nr^T

riFmFf):
' Cash Book, Closing Entries, Capital

Expenditure, iSinking Fund, Trading
Account, Working Capital, Suspence
Account, Receipt and Payment. 2x5=10

(T[) TsJR "snnR. 7|f^ «n73T^ ^ ̂
^jcii^ia 3^PbtHR^ AA^^kPtRih 2 o^Ti

C[I^ aiR^ :1^T^ "Rr i "dPM iMi
hniM ■qtri TiWRt "^rr^
tdldlHHI ^1 10

4(Scni3)FBODiI/G Contd.



wr %TR
Trn^ i s{[^

8T^ A '3lRt B "it 3TRt crll^llPl "g STT^t af# X ̂iRt
Y^ r 10

(^) TTl^pqPf "HR "SfT^ : IQ

tiHpivr>N'ik ti'iinHH oTl^
■^^ihrtihiPT nqc^
^  #rA "q^^TRFIRT TTt^

^?lR?rft 1^ "^tORT . 4^<HM "SIRrRT I
■  i2[teW'^5^f#Tf^ - ̂  "Prt^ %ri^

sTRRb Tl7§T im iRfsi^HT^
■SfTmi, '^8TRr "TORT "^IR^RFfr "^Tk

^ ̂1 "^ir^lRr T^R^ddfH %
yicrlR<f | •fror

HHkPH dNKlH f8lfepT5FRT fnfeR 3#
^ wn^ FTR ^

^oj|4ft "qRlM fft# ■^FTRl^ IRTlcr
SFRuM c{®||c|Ai) '-^ETHT -ggRRr

^1<Pi[d Rild^V #R1^ "t
Ti^^nznRr /^iw^ WftA *^i<hh

■  <slldlHH|ild1 "^tar I

4(Sem 3) FBOD Il/G 1000
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ASSAMESE

(Functional MIL II)

Paper : 302

Full Marks : 80

Time : Three hours

The figures in the margin indicate full marks
for the, questions.

bi . ' s ; , . bx(?=(t
(^) m -srf^?.

,  (^)

(^) ff&, xfi^ .

,  ̂ (^{ . . . . : , . .• . ,
(^) ^srtcTit^ ̂ «|vo ?

Contd.



^1 . S C^x<?=bo

W) t>lHJ<llI^^^. 1% 1% ?

(^) (WW ?ff5rl *tTO I

(^) 1^®f' 1wr ̂ n::^ c^ ̂rsi^

vO ^Nt o (Rc<pit'ii i^tf^) <^x8=c^q

(^) tc^ WfSlW
\»R^ c^'

'^ICcllHl ̂ 1

■  C<PC«iC<J» C^Roi I

(5t) 7i9t^ i£l1? 5«i% I

(■^) 'Pi*Sf^ x5f^ C2^' "^IlifDvs Rvsj-^ v»R\o
c^rfw '*\<\\<\^ 1%

4 (Sem 3) FASM II/G

(«) "Its ̂  C^ %fT*feT
1% ^<41^ t<pItoi I

(F) CWo C<PC«HC^ IWI^ ^
I

8 I ^ C^ C^
^WsWTfHWl bo

.  "smt ,

^Sr?I^-^^Fltft«T ■

(t \ VSC1V0 1t?n ^^tf®t1in^ C^-C^ *1<HC<1H<
1^ s vsx<^=:b(j

Affidavit, Audit, Over-Draft, Balance-sheet,
Provident Fund, Bonus, Hire purchase. Quorum.

\b I ^5^ ft5lt ^c| ̂ £^^ ^ bo

Wf^, 073737, .
^ |tl%^ ^ vfl'et 1^v2rt%^

%tf^tl ̂ R)^iHC^R ^ fwtit

4 (Sem 3) FASM IPG Contd.
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i  .VT • • • • -1. ' ■' ■

CvSfsn^ 1 Rv^
1^ #T

211^ fro I ^sRft

TfRt^l^g io

^ ̂  VICHIC^N ^siT^cf-^j^ ^Tl%l ■<£i^

W>'^^-1 ̂ |K7<lstj%
■plp^p5^:"pfC^ ̂

,  I wrf®^
tf^. I

'^r<s
v£R7if^ .1^^ I ^
Rt*i^v»ic<i v2fpf^®t2rf'^. ^'f \ i%it, ccf?i^,
^Sltf^ ^Srfeslft '(TT% I
^5JH
^ ^Ri,-^5rf^ <ij^^l?i "^Ri o^
%i^i .. • ' i ' ^ .: ^ ■'

4(Sem3)FASM II/G 3500

7b/a/ number of printed pages—4

2014

4 (Sem 3) FHIN H

HINDI
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Full Marks : 80

Time : three hours

The figures*in the margin indicate full marks
for the questions,

o  ' ' ■ ' •

1. ^ ^ : 1x10=10

(II) -^PRn Rb^chl sft?

'  (tT) 3^^ % ^ t?

(-51) -^rq^T ^ ̂  t?

(^ ^ ^ ■^* "^nsRi % ?

; (^) I?t iin^ "t R^ ?

Contd.



(^) 'bft WIRT ^ f ?

(■ST) ■(315 ■'§1% if TO t ?

(IT) sWmi Iqi^chl orfl^ sff ?

(■31) ^ ?

2. (HHldfed TRjft if W% ■3tT ^ :

.  2x5=10

.(^) ■feypff if TO TO'^ t?

(■<3) ^3if % 315H if TO ̂  fan t ?r«n ■n^f^ %
if aiyig'TO fsiT t?

(■n) if TO-TO sicR f ?
■  . - : . f ' • ■

(■Ef) ^ TO 31TOTOTO % TO 'TO ̂  ̂
TOelTO TO TOTO wiaqi fTOTTO ?

("§0 dfifdl TO-TO TOTO 1%TO ?

C"^) l?ra1^ ^ w«l spiTO f^?

4(Sem3)FHINII/G 2

3. (HHfdfyd Wif if ^ ̂ :
5x5=25

(TO) ^3fifeT TOI TO^tftfro TITOTOt if TOT I

(TO) Trifti TOT ■^SfTOT I

(n) iro 1

(^) TO5[^ ■toMi

(TO) -g^rof^TOTR I

(^) T3j^ "OTlft "^311 ̂  I

4. PlHldfetf ^ "91^1^ :
15

Approval, as directed, Authority, Bonus, Casual
leave, Chargesheet, Comment, Current,
declaration, deputation, despatch. Employer,
Inspection, liability. Quorum.

5. C"^) -sflTn 94896345 %
^Kdl4 "NsflcH I^FFi % "*1^
I^<aT I 10

4(Sem 3) FHINIEG Contd.



w

■"11^ IRT aipft ■JRRT % TR ^
tg -q^r llrafi

(■?§) fqft ̂  ■£[ 3<N't)d •qiT TmH
^ XgT 11 %# 'ft ft?T ^ Bifwr cPflfti TSI-
y<!(f<=b % ^ t l^'iisr t'W ft?r
ft <5-^^ ^*-Hii *1^ PiQicii I

CRT % .wil^rqcbK ftt ftrflw qft -scRr
1?^ ftft ■^iicRi ft-wftftr ̂  ft qft f i
ftt ^rrftcq^FR wftfft ft t ̂qqft # ■?|^ -g^
^ #, ^pnqH sftr ftraciT t -f^g

^llgrM-'Hraqft qfft "Sft^ ̂  t
t ft?r % ?T Tn^ftr aftftq^ ft5®,5!ftgjR_25
iN-fllft ^ 3ftT ^ qlT qft 11

(■^) dM^cfd •q?iw w 'iig arqft ■?i5ftf ft' Ifti^ i

f®9 aftft oqngg-qRfti 4

('n) yq<(dfeci ^ ftHftr Iftnif I i

4 (Sem 3) FHINII/G
800
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FUNCTIONAL NEPALI
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Paper : II^ ' ' ' i. ir ^'' . ■
Full Marks : 80

Time : Three liours'^^^ ^
•  V,- . ■-y. , -1, » .

The figures in the margin indicate JuU marks
fortheque^HotS:"^^

1. "3^ , c-: T'r T? 1x4=4

■  / - r - - ^gnr . n-Drn-;
(■^) 'MlHdcKi .Wt' %7

Cm) Mi^Rich arocq aiiTifW* —
Mlci^5bH 3R17f^ • '

I  |i:u; .

C"^) HIcJMShH

/  '. '-•; ■ . V' , ,■ . >■; j.-iii-. .

(^) dMklcbl PolchRfd ^ %'#? ' •

:  : .S> :^l " ■ •

• fj' : !' * : Contd.



2. "3tR •' 2x3=6)

<ivrqiei) t zi^r

WlIX I--^ "3W ^ if
T "ZRra Piq-^lchKchl I

I! , :' ,; • ^

{^) TRT -^ 71^ % ̂TRT ̂ ?

. (^) ̂  T |IT ̂  3T8f
'v'.- '. ■ -/v:

3. M^ichi "StR: : 5x2=10

(^) :

" '4] Mldcb)^

IRTRT 3Tr3[^
ciMi|cbj cFTRmr "sfw —

''-■ — '"q;! ti^

(Ti) WiHf; "qifi^TT, -qt
m^\

Wl# 31T«?R^ ^

(tt) -qiH ^
^4«'«wr "Sl^W

.  "^1
— ^ TTfrFltf^ 7]^^j

4(Sem3)FNEPII/G 2

4.

5.

(^) T ^it^eq' 1W«WT Pi'M'^chKc^ T-
Tirf^ ozrar .■^?

©eiMiQl ^ , i, . 10

3fmr
. r-

* <Svrq|Q^|' Piqns^lHlI^ STPpfr

(IS) 'MiMdcb) PraF^TRT ■ m1 Hdch)
^ ̂HFirfer T ?^Tpfe'^5RT ^jfw

;  . 10

37W

cFIRt cRRT t#T

"qrft^lTfW i^K^^<=hl ^MldlHI ^m-di I
2x5=10

(^) Free Trade

(■?sr) Crossed Cheque

("T) International Monetary Fund

C'^) Cash Book

(■^) Double Entry

4 (Sem 3) FNEPIFG Contd.



6. , : 10

7;

You find today iii the world each person doing
one particular kind of work. A man is a doctor or
an engineer building bridges and roads or a
carpenter or a blacksmith or a mason who builds
houses or a shoe-maker or a tailor and so on.
Each man has His special trade and .does not
know much or anything of other trades. This is
called division of work or division of labour. If a
man tries to do one thing well he will do it much
better than if he tries to do many things. There is
a great deal of division of labour in the world
today.

^ ̂

(^)

(■m) 1^8^* wrto

(IT) xpfsTT

20

4(Sem3)FNEPII/G 500
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ELECTIVE NEPALI

. Full Marks : SO

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. 3^%^: ^ ' 1x10=10

(ri) ti#TRT it % IWhTRT?
(h) ^ it? .

(^) it? ■ ' •

(^) Piyf^d ^ it?
(^) M^ldchl TO % it?
(^) W^

(F) TO % it?
(3r) ^ 1^?

A15^00/286 ( Turn Over;)



2. 1^3^^ : 2x5=10

(^) wt! -^1
%TJft W ̂fr STRW f^, 3ft^ #TI
—^

(^) *3TZeI5I^' HIdchcbl ^ TTl^

(Tf) ^ ^ |?T
1^?

(^) ^ 15 ̂ ?
^ 3TRJRT ̂  ^ 1^ W ̂
-^iTff^ -Sfm chWelll #?

(^) if ̂  TO

3. ^ 3nR^ ̂  1^5^ ; 5x4=20

(^) TOIW BzmiziT :

^313 TT, ̂  «II§M|J^I %

3T«IcrT

WTOT ̂  TO I

(^) I , „.
TOT TÔ , I

ttt^^I ^'•' nr!>;- ?r.

AlS^OO/286 ^^^Cdntinued.j

{ Srs):

(tt) ^*<fl, 7

^ "Tf # dPl^3» 1M 3BTI
—TBT cb"Hel T 1^ 3IliR %S
'Sim 15?

(^) TO TOt5 ̂ TITO! TOI^ ̂  Ti=qt,
TTHT 3^id«l^l^<dlf l^rgr SiTO^l^f?

TOT TÔ , ̂ ^4, % WTO 9T^

(^) "iflcfl^ ̂  ̂ TOTT ftpcn 3^,
*nidTf T|?T tt^i"
—4|R|+1 ̂  ̂t#I, TÔ  1 1^ "Sim

TpTRT

(^) iBRTW TOTTO ,

^ JMI<^ TO IfT ,
M ^iNjt

"4=^ Wif^ TOTK^, 4^!
'Tl? TOFft^ TOf TOUI

3TTO

r^ TOf % TOT? TTIf ^ I
■^" V. *'

4. ^ TO 3RR^ TO : 10x4=40
(^) W4R % 'sTZdTOir' ^^ITTO ^rk

3T35T-TO^ 4ft^ Wnr TOT^^ ^
fir TO Hld+cbl TOTITO WITO

Ar5rfT400/286) c 4*fymxOvBXll



(! 4^-) 3

^  W' Mld^bHI l"

(^) 'STZ^I^^' Hldcheh^ W 3H.id«l^l^<^'1

(^) "1ST TTSn^t tpft ^ TlWl%' ^

f^i"

—Hld^chl 37T«miTT Tl|?l^l

(i=)_ 'nfR' Riz^ y#K^ arezncTRR x
I^<uiicb(^ij^<^ 3rfMM^T^ 'ilchi ^?
^scrlH)<ri ■'T^ii^l

(^) "iR ̂  ̂
—^

(^)

W  wqw ^leif^ 1^wt
^ <5*1 ehl

★ ★ ★

A15—400/M6 3 (Sto-3) NEP E..
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Full Marks : 80

Time : 3 hours ,

The figures in the margin indicate full marks

for the questions

^1 1^ C^SCT ̂  21*R : ixio=bo

(■^) WiWr "SM-^IIRvsH v»5cT«1'^ IHCW
^? V-

W  C^RR Wpivs <j»RI^crj ? .

W  RR?I ?

(r) tî -llRvsjvS ̂  W W

(®) ^ R15RT ?

(^) CW ^5P1%R
^5R1^ ?

(^ 'f^RR ̂  ̂cfl' C^ ̂  ? .
(w) a«?R ■>j|;j||^<p ^nis^sw TO ̂  ?

A15—5000/282 (Turn Over)
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W  <<¥4^ <1»pvolvo 1% ̂snf^ ^sR%F ?

(v<J3) "5^^^ ̂9Rin^ ^ 1^ I

(^) i5i^' ̂  ?

(^) *^1%!^ #1^' CTOT <>R|^o1 ?

(^) C^iR«R <3pl^ ^nH^Sl
'®i<picv9^ »rp» <pRf^oi ?

(15) c^mwm 9m<3% ̂  1^ I

(®r) wfbR >iRif^<i> ̂ <i=npiw ̂  1% ?

^1 i^ %5T 2f*R : ^X(^=^o

(^) >j|Rvol<C ̂  ̂#i§i I

('f)

(^) '^St' *1^ 1%? c^ *n^
«9IK ̂ ?

(^) ^ ̂ "3% ̂  1^ I

(«) CS^sRW^ ^PfT ^®rf%«lRW ^ 1% ?
^ igte "TO ?

("5) ^«?|H dl^W ^

^ 1% ? ipc® <pRR'n ?

A15—5000/282 (Continued)

( 3 )

(^) "QTli^^R <P^1
^ I^NT I , .

(^) ^«r^<?>iQj <i«i«T^oi^ •M 1^PIT I

(^) ^ c<iFl^l ̂ c«""< I

0 1 1^ aiSR : <tx8=iKo

(^) "5^ ̂Tft I

C'^) oi>i^%ii >iiRvoj 71"^ ̂  c5i^ l5p?rT I

(9f) •3f='^i^ c5i^1^

(^) vilT^T "5^^ic®in>^l ̂ hi^ic?!^! I

(®) ^ "5^ u?l<pl I^WT I

("5) v&i>1*^^11 irfej ^icoiiDii
^9i<ROTr I

8 I ^icoii&'ii i ^ o

xspT^^ i5R^->ilRvi)l ^lc«iioii W I

(t I >)lRoiloi C5?I^ 'S'-iIFo^h -q^n
OllCcrllb^ W I

'oj^tdHl^rV ̂ idgjlb^d^ ̂ ^^^1
oilCollHl W I

A15—5000/282 (Turn Over)
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^ I wdm Tif^sibi "smH >ii6i
«<ICoili>ii I '

'  ' ̂ ■. ' • • ■ i ( - ■ "" . ■ •

c^Fof^ ^<1^# ^6llc<^lHl w I

■  , ■ t 'l-r ; •

WiW 5IW->1lRv5l ^ I

★ ★★

iOi

bo

A15—5000/282 3(Sein-3) ASML

3 (Sem-3) HIN L

2 0 14

HINDI

( Elective )

( Hindi Katha S£^tya ) ..^ .

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. -51^ : 1x10=10

(^) tm % iN^HK Wr ̂  w SIT?
(^) TO l^vETft TTlt sff? '

(n) ^ eFfpfr t?

(si) TO2^5ft 1%^ ̂  ̂  ̂ Tqf^ -511^ ^? •

(^) wr t? r

(^) ^ TO t? ,

(^) 'to % cfe^i^l^K t? :

(^) '3#^' TO 1^ «IT?

(^) % TOTOHt ̂  t?

(^) "^sNt, # ̂  M ^ ̂

A15—700/284 I Tlum Over j



( 2 )

2. 3qr5Rf ^ : 2x5=10

^ ̂ dMWi WT «rr?

{^) m ̂  ̂ MJId^lH cl^
aTRT, eft "qM fef tPTd^ %%
INr 3TRT sn?

(r) t?

(^) "f^i^ «re^ ̂  ̂ftI^ ̂  ^ ̂TB?ft ?ft?

(^) ̂ Ic!R ^ ̂

3. ^ 3Rift % : 5x4=20

(^) M ^ qm sirsT ift wcoi 1^
^srmr t?

(^) 1^^ % ^ 1^ ̂RJR ̂

(T) RRSlsft 37M

(^)

3TTf l" 1^ ̂  '1t^' ^ ̂ R|
%?

(^) ^ ̂ ̂  tftsra^ % m?

A15—700/284

J

f Continued )

( 3 )

4. ^?3RPT ozjpsm cQ|^14 : 10x2=20

(^) 1R 1%^®^ ^T4TI "gtcIT ^rf^ SllxflH
^fJl^ ̂  ̂  "gtcIT, ̂  ^

sTTsi ̂  ̂  ̂ sfrt^ f I aTM ̂
314^ «t)Jo<n tiHM «3"B^<gQidi,

%eTRT ? I

3T8raT

%  ̂ ^ fl41, ̂R?R wr t,
^ ̂ir^cimt ̂  j^gfor ̂  xRi? ̂  wr 11

(^) 1^ m ̂  snafH^ % ^
3Tsrf^ ^ 1^, ̂  i<ll(lll«h

arasTT

^ RTcTT «ft ^ ̂
^ftf^ ̂  ̂ ^ Ttm lit, 1^ ̂

^jcFTT "f^^TT ̂  cj^ *1^ I

5. % smnt *1^* # sn^it^
^tf^i 10

aram

^ ̂iIVD«h 1^^?WT3Tt ̂  lidil^d ^tf^l

3WWT

'%to' wft % 3ifctqm # ^ti^i

★ ★ ★

A15—700/284 3 (Sem-3) HIN L



3 (Sem-3) PSC

2 0 14

POLITICAL SCIENCE

( GeneFal )

Full Marks: 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

Option—^I

( Politics in India—^I)

1. Answer the following as directed :

V001VS :

1x10=10

(a) Who followed the policy of Divide and
Rule?

xsfRi *jpR' C<PlC"i ?

(b) In the Indian Constitution the Right to
Freedom is incorporated from Article
to Article 22.

{ Fill in the blank )

(  ̂  ̂  )

A15—45*/296 ( Turn Over )



(C)

i 2 )

came to India as a Viceroy after Lord
Curzon.

( ;l^rd Morley / iLord Minto /
Lord Dalhousie )

( Choose the correct one )

^  vsWVitoi

X5n^f^ I

(d) Which of the following Constitutional
Amendment added the words 'secular*
and 'socialist* in the J^reamble of the
Constitution?

(i) 42nd Amendment

(ii) 44th Amendment

(iii) 73rd Amendment
( Choose the correct one )

c4Hci5i

(i) 42^7RC»IT«|^

(ii) 44^WIT^1^

(iii) 73^

A15—45*/296 (Continued )

( 3 )

(e) Which of the following books was
authored by M. V. I^lee?

fe. v55i^ m ̂
(i) Government and Politics in India

(U) An Introduction to Constitution of
India

(Hi) Constitutional History of India
( Choose the correct one )

(  4lfB )
A \

(f) Who authored the book, Introduction to
the Constitution of India?
(i) D. D. Basu

(U) M. P. Sarma

(iU) A. R. Desai

( Choose the correct one )

Introduction to the Constitution of India

(i) ^
(ii) *1^

(Hi)

(g) Fundamental Rights are suspended
during emergency period.

( Write True or False )

(  (?T 9m )

A15—45*/296 ( Turn Over )



( 4 )

(h) The name of the author of the book,
Constitutional Question in India, the
President, Parliament and the State, is

(i) Morris Jones

(it) N. y. Noorani

(Hi) H. Ray
( Choose the correct one )

Constitutional Question India, the
President, Parliament and the State

(i)

(ii) i%.

(Ui) ^

(  ̂ )

(i) The Governor can issue an ordinance.
( Write True or False )

I

(  (R %?1T )

0) "Federation means the. establishment of
dual polity." Who said this?

1PFRJW ^ i"

A15—45*/296 ( Continued )

( 5 )

2. Write very short answer :

15^ Rijl :

2x5=10

(a) What do you understand by supremacy
of the Indian Constitution? .

^5RShi SfTTRJ^ ^ ?

(b) Mention two basic features of the

Preamble to the Constitution of India.

I

(c) Write the appointment procedure of the
Governor.

(d) Write two provisions of the Indian
Independence Act, 1947.

^51%^ 1947 ^ ifHT ̂  I

(e) Write about the Independent
Commissions of India.

3. Write short answer (any four) :

^PfT I5li^) :

5x4=20

(a) Discuss the nature of Rebellion of 1857.

1857 ■pjR ^iidcrjiHi w I

A15—45*7296 ( Turn Over )



( 6 )

(b) Write a note on the Constituent
Assembly of India.

(c) Evaluate the recommendations of the
Simon Commission. ^ -y^ : ,

(d) Mention necessary provisions for socio
economic development of India.

v»l^v2)-q

\

(e) Mention five unitaiy elements of the
Indian Federalism. :

<P'^I I

(f) Write a note on special power of the
Governor of Assam.

^>1^^ ^

1%^ I

4. Answer the following questions 10x4=4o|

(a) What do you know about Freedom
Movement Legacy? Explain. |

^5n??tn»FR 1% !

^ 1 I

A15^5*/296 ( Continued j.

( 7 )

Or/'smi

Discuss the federal provisions of the
Indian Government Act, 1935. Write its
impact oh the development of Indian
Constitution.

1935 ̂

^ I ■voM'Slv R4hvi %K
"Pnt I

(b) Discuss the working of dyarchy under
the Government of India Act, 1919.

1919 1R4 ^

Or/^sm

Discuss the objectives and ideas as
reflected in the Preamble of the Indian
Constitution. How far is it' correct to call

'  it as the soul of the Cbtistitutiori?

^5Rx5^ ^

^sTpf*!^ ^ I ^siniT
^  #$iroST ?

(C) Discuss the importance of Fundamental
Rights. Why are these rights
fundamental?

cWrs W»ITRT W
^5rf^<pHc<ih "^7

A15—45*7296 ( Turn Over )



( 8 )

Or / WW

Discuss the recommendation of Sarkaria

Commission in respect of" Centre-State
relations.

(?W5

(d) 'Indian Constitution is partly rigid and
partly flexible." Discuss.

^5IT<in<P«l<.S5l ^ ̂5(1^

i" ̂snc^iiRr ̂  I

Or/WW

Discuss the financial relation between
the Centre and the States. Write on
central dominance in financial matters.

^

^ I #*1^ c^sfl^r i

A15--45*/296 ( Continued f

( 9 )

Option—II

(International Relations—)

1. Answer the following as directed :

^5»f5 R<<i:

1X10=10

(a) "International Relations is a subject
concerned with the State system." This
was said by Hartman / Burton / Palmer
and Perkins.

( ciioose the correct one )

i" ̂  / <jtS^ /

(  ̂Pi^S?iT )

(b) Who is the author of the book, The End of
History and the Last Man?

The End of History and the Last Man

(c) Who among the following is regarded
an Idealist?

as

(i) Immanuel Kant

(U) Wilson

(iii) Morgenthau
( Choose the correct one )

A15—45*/296 (Turn Over)



(  10 )

(i) \»ii'3C^®i <Pi*i?

(ii)

(iii)

(d) Which one of the following is the
supporter of systems theory?

(i) Hedley BuU

(ii) Morton Kaplan

(m) Martin Subik
( Choose the correct one )

?

(i) ^

(ii)

(iU)

(e) In which year the UN was constituted?

(f) Mention one method of maintaining
balance of power.

A15~-45*/296 ( Continued )

(  11 )

(g) The Treaty of Versailles was signed in the
year

(i) 1919

(u) 1945

(Hi) 1914 -I
( Choose the correct one )

(i) 1919^

(ii) 1945 ̂

(Hi) 1914155^

(h) Write the full form of ILO.

ILO-^ '

(i) Cold War is hard and bitter peace' was
said by

(i) Kennedy

(H) Schuman

(Hi) Raymond
( Choose the correct one )

%55i ̂  ^ ̂ ^

(i) cTOfe:?r

(ii)

(Hi) OTOQ

A15—45*/296 ( Turn Over)



(  12 )

0) Name one /expounder of realism.

2. Write very short answer : 2x5=10

(a) "Intemational politics is a struggle for
and -use of power among nations." Who
said this and when?

W5 ̂5n^c|

^  2m^ i"

^ cw ?

(b) Write two features of liberalism.

(c) Define realism of Morgenthau.

"R?1T I

(d) Write two demerits of systems approach.

(e) Write the full form of NATO,

NATO-R i

A15—45*/296 ( Continued)

i  13 )

3. Write short answer (any four) : 5x4=20

(14 CW4T Vl^) :

(a) Explain the meaning of International
Relations.

^5n^S4lfl4 ^«?f 4TNTT ̂  I

(b) Discuss three features of collective
security.

(c) What are the various methods for
promotion of national interest? Discuss.

^414 1^1^ 4T 1%
1% ? 4RTI

(d) Write about Kant's views on UberaUsm.

44^ ̂414^51414 i%4T 1

(e) Discuss about the objective and
necessity of balance of power.

^vjvsH ^I4>II4J4 ^C4t*IT ^sniPWsT ^"4^
^icniwi ̂ 4TI

(f) What are the causes for the declining of
Cold War?

%55f^2f^§PT •

(g) What is MarshaU Plan? Discuss.

41^ 1% ̂  ^ •

A15—45*7296 (Turn Over)



(  14 )

4. Answer the following questions : 10x4=40):

(a) Define International Relations. Discuss
the nature and scope of International
Relations.

^5n^S"^lfl?F ■'tw #5fT I

Or/WW

Discuss the causes of Second World War.

(b) Explain the advantages and
disadvantages of balance of power. Is it
relevant to contemporary International
Relations?

Or/ WW

State and evaluate liberal approach to
the study of International Relations.

(c) Define national interest. Explain different
kinds of national interest.

I  t^i%^ 2m

( Continued j|.

I

(  15 )

Or/^smr

Discuss the various phases of Cold War.

%S5\ ^IWIHI ̂  I

(d) What is collective security? Discuss the
demerits of collective security.

CWi^xsnMM^ I

Or/

Discuss the importance of Morgenthau^s
approach on realism.

I

★ ★★

A15-45V296 3 (Sem-3) PSC



3 (Sem-3) ASM MIL

2 0 14

ASSAMESE

( Modern Indian Language )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

(^) WT'

^xio=bo

, (i?f) <piPwW WT ̂
»tWWr?

(9r) TO' ^

(^) <Pi^ 1^ i"
<l>Q'|'af(.l TO® 1

(«sf (?rc5i%r
''1^', TÔ TO ̂  1^ ?

("5) aicR"2r 2j^ ^ 1% ?

A15—50*/283 (Turn Over)



( 2 )

(^)

t

(^) ^o vsc^^sr '^siw cwifN l^sff^'
1% ? . '

(v<j3) 'v<i^ Rt<!i(w®i' •ni^^pr'rf^ ^
T«nci>n (?roT cw ?

W "c^ w, •c^'PnsT, c^ I
3^ 3fev5 W?r ̂ 1 33 ̂33R W (Tt3^ ̂

3^^ 333^ l" ̂^31^ C^T^, 3rf% 35|5i^
3*31 c^cs?.?

(3) "3^, ̂  3T "^sm 31^ ̂1C<1(.^ I ^3(1® 31^ ̂
C^frar I ̂  1^1^ 3^ ̂  •" C^1^3,
3>1<P ?

(9f) v»iR<^h ^13 33T C3I3T ^
<]|Ri&llci ?

(3) "v4iW<$^1 33W ^ 3^13
3IC3 l" "^313133 3^3Wr CW ? 333 333^

^^C3ft3r^C333T^?

(®) "CSfR ̂  ̂5^35 3*^3, ̂  ̂ ̂ ̂ 3ri^ ?"
3^r^33 ̂  C^TPT ^ t3 ̂'t3 C3f3T3 3P3T

A15--50*/283 (Gontinued)

( 3 )

Ol o^l<? 1^ : (jxs—^o

(35) "vsW3 3r5(3T^ 33lf^ C3Ip[ l" 35313133
3313^ 1^ 3R1 1

(3) 3ft3^ 3lf3 33 C31t5T3, Pl4>o<l 333-^33 3f^ I
^ Fi31, C3^jB1^ 35f l" C^ICT, 1% .

SPIn'?!^ ̂ Z33C3 t?R:3,13^5133 ̂  I

(3) "C3I3 3133 ^5lf^31 C3i^, 31^
3fel" 35313133 3^^W C3H? CS^. 3»1<P, 1%
33^9f5 »<l^33C3 ?35f^, ̂131 •

(3) ^3M^1^ 3lfe3^ 'if^llt3 ^5n35TO
3^313 PilbHI 3it3 ^ ̂ "310^ I ^I3»

35*t3<l<M 313 H13l<!.3 I "•^^313 31^ 31^ l"
3531313 3TI3T1 3531 I

8 I (^) *3#I3 W' 3li535^ f)f333 3Tf^
C3OTC3 3«f^ 3531 I

^33r

ftf33 31*11313 31613333
71^3^1-R3»3vo1 1%tTC3 ^ '

(3) *' *3^' 31t63p?(^ tel tel 3131 ̂ PT1333 2113131
(Tf31 C3131 313 1" ̂ 31313 ̂ 31^33 3®N
^1

^331

^3^' 3^ X5(g5f^ ̂ 5li^ ̂  ̂31^ 3^3133
■5f33 ^ %§133 3531 1

A15—50*7283 (Turnover)



( 4 ) 3 (Sem-3) BOD MIL

(^) Hll5j<M<!l -si^ 15T^'

^(Jv^Pivo 1%^ JIHlRr^-
^  ̂ i"

TfpsFnto T!]wiv»M

M'\^(.^ 2R#l^ ^IWIbHI ̂  I ■

(^) *v£l^F^ CSTMI^-q l^oiRoi' ^fcl%

"^a|l'^<ll^ "d%31 Rcsi<J®f
&Rtii<p w^ feri^r ̂  ̂ ̂sht?
^[J^ Tf*ff^ ̂ IdellbHI ̂  I

carHlfl'l ^5P]%| T|?I|^_
1%^ I

★★★

boi i

bo

2 0 14

BODO

( Modem Indian Language )

Full Marks : 80

Time : 3 hours" ^

The figures in the margin ihdicdie full marks
for the questions

Answer in Bodo

t,, , ; ,

1x10=10

(^) twft Ri^sdl 3T1^ «IKdlR>lR ^NWI iTT^lTteR
Tn^ftRnr '
'. :T". I ^]|r- '" ' ' ' ' '-"r ■ ,

(^) 3TK^' TmRTR TIWltozfT

TSTfTFFTFiW • -

(tt) ftq^foT
^ Sln-ll

(U) 'W R<RhIHHW" TRSn# TlW^fj^
TterzRR arngiH ̂ strpt -rv^ ttt -r?

(^) TTI^ ̂ ITR

A15—50*/283 3 (Sem-3) ASM MIL ^ ̂ ^5 6000/291 ^ Turn Over )



( 2 )

HHidI "PRt cfF^Wt^?

(^) wr wiwi^WFto «iil^«sdi—

■fWfter ^ ^iRFfrr?

(^) ^ ^STRNk?

(^) ^qtaPT

(or) ^ar' amt tfM^RR# ^
,

2. ■pT^prf^ ^gsnt # : 2x5=:j^|
(^) 1^RRf^ srmR oiiR^^Hw

Tit ^ fei

(m) w.'-^ TTT^ iftm onrHNl^i) 1^i

(n) 'arorf^ ^t?jt' wrm ^ifWr
^ITTR ip ITT

(^) to, tojT ^ix^r't ^
^ ̂ikf^ R|j|i^-ici

(^) ti^-S'f aii<g<g1 ^ itot?

3. T]75ito Ito# -fto (^I'nRa-^iFrT
totf^) : 5x4=2(|

||
(^) torrPt RiisdiR ticisimr' ^rzi^iFn^ to^PRR |

toPt f^irsdiPF ^ ̂ KHicj
to^tqPr f^i

A15—6000/291 ( Continued j

{ 3 )

(^) PkrHPTR ^T^PRFT haiKl: J|^HI4>1<I
TTTR? r- -

(^) 1921 ^PRsn# tit tora^Tpripn toft
toitorn^RTnTnto torRtot?

(^) toto Pil^i^dr anrpr wftf^
"toiRRR arft^ "Prr^ "toft efftot?

(^) toP% WRRR TfToerr and r -rt rfptrr
tomto todn rPrr toto?

(r) totid aWnwin hhMii TTRif^ ^nfd
tor-tot Ritofto toi

4. R^ito dl^phtot ^ ̂  :

(^) ^'to to toito "toton rt "rt
wntoto i^ftor 1cRI

TTSTT

toRito ^ and to^rf^RjtdR toto
•f^fton toi

(H) '^RnPl cniHNr "f^lR-I^PT "ton Rpd ^RR
RRt PtRR 3nd R^twRR' tor^fRR
toi

TT^

Rito ^-^ttttstt totorR R^nftoR
RR^fNr totot 1^1

10x4=40

A15—6000/291 ( Turn Over )



( 4 )

(Tf) 'mn' TFisn# t^TFikT^
HT -RT wTwfr PiRihi 1^ I

ttstt

iPTFaf 'sTlMI^'liqW URT Traf%

.  "jit 1^ I.

(^) 3qK3r' <w«iwi4 icRptft^n
"m ̂  1^1

%PTkR W.''^ HNll^^l (vHwImIw '%Tpr

1tenf^ TFTSIFTR fcliPlR^I

fel

★ ★ ★

A15—6000/291 3 (Seni-3) BOD

3: (Sem-3) NEP MIL

2 0 14

NEPALI

( Modem Indian Language )

FuU Marks : 80

Time : 3 hours

The figures in the margin indicate fidl marks
for the questions

1. ^dcbO^r ̂  1^3^ : 1x10=10

(^) *i5lMW ̂

(^) >V||ch| ^ 1<?

(tt) ^ ̂1 (^0T^ ̂  ̂

(^) -^[53;^ % 3^^ «i)^«=b)

(^) 'Urtitor' ̂  ̂iqicb>

(^) % lit?

(^) ch«llchK

f^t? .

(^) T 3ntPT ̂  ̂ ^"^3Tli
c«l<wi5l ̂  RT3^ -3^ #?

Al5^1400/287 ^ Thm Over )



( 2 )

2. 3# : 2x5=10

(^) X 1^'-^ "^TlPn. 3T^ *rraTOT %-%
jei«;5<s^ oqcign ̂  iNW <ill'^?

(^) *rf^?

. 1 . '■ '

(^) ■te-M' eh«ii«+,i cn<«(^i^<cbl

(^) ^ WT# i[k ̂  3ft ^
■af^ ^? . .

3. E^hRTT "3^ "'gpSSt) : 5x4=20

(^) 1^-M' ^ ̂ ^^1
(^) ^nf|f^,lFS|^-^TblT 1^?

(^) 4WnxiT 3RI4> M^'ji^lHcbl
MK^iidif ia^

4. ^ 31^ 331 : 10x4=40

(35) IRWft ^ eh<(l«!>i STRITCRT «r)«(|e»)K
1^ <4>«ll*llldl4l\ 3ra»RT Mljdii,!

AIS—1400/287 'r.c»■( (^htinued )

i 3 )

(^) 3T^ Pftdl^ ^ *4F# xto
4)vqidTciehi smmqr 4^15^1

(3) uqfjroi wrfaft fio<^cfe|RdNl\ 3r3im
qif 33^ "SRiq T^qft
3T33R^ ^^-'aTliai

(^) ^ WR : TT^ 1^' ^ i^rapsmr
^o 3>HK WFT^ Jii«; ^"-sR Vsjcoivi^ ■f^qqqr
%-aRi3T ^rra?^ ^?

(^) 'WcTT' ^5«nqT d,iJiid,K^ ^ ̂ 33iM
I5l<y<t>ctjl %-3513t '30l\<til ?9C1M>C1

(^) '^in?T' «t>*4wi 3^3 353131^ ipftegrr tr^

(^) torqqiR ^?s%Rn3 ^5R?ter ftqRft
inflcW %-^R3T Pi<q»^q,Kcj,i 4pvqq| r^Plr^d?
^dM>d TljiEt^l

(^) P«l^'M4iR fjaoTjRn^ ^ciieft+l Ti^Er
uRni^

★ ★ ★

A15—1400/287 3 (Sem-3) NEP MIL



3 (Sem-3) BEN MIL

2 0 1 4

BENGALI

( Modem Indian Language )

Full Marks : 80

Time : 3 hoxirs

The figures in the margin indicate full marks
for the questions

ixio=io

(^) ^ ̂  -n^jvoi' SRiTO

?

(9f) "voii^cow ^Ihlc^ C-Jiiui^pvo iilWlW
'«n^>Q (^ l" sg;9^ **11^'

(^) ̂  «f<i(.»rwfj *^voc'>iiR*n' <4»<jcvii
?'

(«)' "(:§, ̂  ^sn^iH ̂ sn^,
^ f^8?.C15l ^Iceira ̂ IWlil vsfl, (?f5|t 21^ ̂  l"
*^5^ ^ 1% ?

(■5) a^-^nfeoR <3OT 1% ?

A15—2500/331 ( Turn Over )



( 2 )

(1^)

-1C^5) "^7

(^) "spgw a^'^frfro ^t^iRvsjc^p c^ a^9[«^
mc'\^ ̂  ? :

(^) ^t^iRvsj c^ ̂51^
<f«fee1H ?

(^) "c^ (?i ̂  ait^ (?T I c>M®fWj cvsRim
^ Plc«r<q 5ji«ii^

i" w ?

^ I J1\Rj»'Q ̂ ^5^ "^>8 :

(^) " 'v£ic^ ̂  ̂  2R?n?T

ar^m m i" ^ ^ i

(^) "d#, ̂ £#? s<[ wsim (TiFi]^ m (?r
9P5i^ i" ^? *(7™ m'

W  ̂£1 c^9ii i" c^,
W ̂ro*r 7

W  mm wn^ te 1^to i)W[^«i,
^ ̂ (?T« 1% ̂  ̂5ipw

^*wn?:®'1%<?r^%7

(<s) "i£^ (Ti;?f^ ^ %fTO?r ac^

A15—2500/331 ( Continued )

i 3 )

o I V c«?r;^ ̂  £K?m ̂  c«?i<:^ ̂
tifT>8 : (ix8=^o

(^) 1% -n^»j^i' a^-nw "SRJ*Rr

oQv£|1^C<P Rc?l<®f <PWl I

(''f) ^ (?f^ ^ ^5n3^nc«m 1^!

.  ctW^ ̂  ^mf ̂ 5fc®

^Ciic^ 7 ttT^ *^1^

^t5l »<hPi^vs|£^ al^wi "'tT^ I

(sf) *v£1^ 1% ̂  TIWST' 2R51C^ 7^-

<#RrTO l '

(^) ^ *3 w aRw

W C^t I" ^

^(M(A, C^ 7 1% ̂telT ̂ icu^oi 7

('^r) 1^ ^ 1^
I"

'^ic'iJf^ei 7 ,

(^) ^im^:

C^OdlSlCW ̂ 5^ 0^ VI^WI^!
w^ (SKSmr c's^ %^., c^
c^lcolfjl <1CS5| ^(.H vSC^ i"

A15—2500/331 f Turn Over )
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8 1 ^ ^ ac*m
.  : iox8=8o

(^) i% ̂  W5T' 2R?1^ ^

('^f) "£R?R >|ijlC®r«l 1^ NS>llCe1lR'vo ̂ %IT

OT, ̂ srof^ ^5rt^ (m, ̂ sh^r
C^TM 1% Wlim ̂ IWIMI

^ICOIIC*? T<.^5J ^

-nvojvoi'^ ^iceiioil "90511 I

V!>5ll^^ ■31^'^ ^1C«1H>»1| <PC5ll I

(^) ^ ̂?;oT 1H95^C®f^ 1l'<f9^1
I

(^) *2n#b><5'
^IWIHl I

(^) "^^rilll^roj, to, <Tfl% ^
«fto, i" 'sfmto- ■'itonfe

^l(,®1U)"iI 9Wl I

(f) *ai5)pD>Q' HitJd^ii Wnto toi^«f ^sc?it i
(^)

•n^, ̂ 'IKC^sf^ ̂ ?1^? C5TO ^f^Vjvg)
9WI I

★ ★ ★ '

A15—2500/331 3 (Sem-3) BEN MIL

3 (Sem-3) HIN MIL

2 OJL 4 , '-'.T' -

. HiNpi,

( Modem Indian Lsuiguage )

( Hindi Nibandh Sahitya )

FuU Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

X, ̂  "3^ , 1x10=10

(^) 3T^sn;g -5151# ^pH" to TO
^ 3^ I?

(^) Xto tof Wt % TO

(n) "JH TO to«r ̂
TO TO t?

(^) 1Wii^ tot tô to ̂  TO
i^rtoi

(^) "STOTO ̂  to TO ̂  ̂ ^ I?

(^) 'inflcTOhTO ■ TÔ  ̂  ̂ ^ f? t

(^) totI ̂  to to f o ̂  sit?

Ai5--2000/285 -^ (sTimi Over )



''m VH". (f: ( a )

(^) 'Ri'dwPii' t?

(51) 1^ ̂  ̂ _!?)«<( 1^ % R'si>n«hK
**1*1®!*"^ ^ ^?

(^) <=1 low I'm % ■qcTT' ^^^ t % ̂
^=TT?^ ^ ^?

:  ,, . .- , . s. •■'•:■' < ■; W; ; :i ■ ' ;

2. ^IWT WHWI cQi^li. ; 8x2=16

(^) eiW ^ ̂TfPT ^ 31^
SmwT f FTTU 1^ 3ft^

^  ̂ ̂WbK II?W ^5^ %1
318^1.

^ c4)i^di ^ t ̂

t ̂  9ft ̂  ̂  ̂1
(^) 3Hft ^ %, ^ % W-W^ ^ ̂  t,

^ t, ^ t, ^ III -21? vIT^kt %

^ ̂  ^ ̂  "?IT ^ tH, ^ 1^
. ^ % |[^ ̂ . ̂  ^ tl.
^ ̂  f® tlT 9ft ^ f^.^:;^ RT q

'  • ■ :, r ;■ ' - ' T-t i%

3. ^ % 3iqft 11^ -[^^n
I, -^TfeTTI , 10

A15r-2000/285 ttB{Q(\ Continued )

( 3 }

arasTi

"  ̂ -q^SfPC 1^ 9ft ^nrcfk ^
WiRjHM ^5FRT t<ll»1lfqef) ft| Piq-^ ftj STRnT ^
^ ̂58R ^ FT^hxTT TR ^rt%lT|

4. Rnloifidd t ft 1^ tit€r.3R;ft .% ^ . 4x5=20
(^) ?R3I-o4.qicqct, ftlq^cHK % ^

^ ̂5IR 1^«Tfftcr ^tf^i
(^) <11(504 ^ oqiHcR 3T?f ^ f?

(n) ^ •qiRI^'j) l^ihcml l^l^m
(^) ^ ̂  3™

^1^1

. V .

(^) ^ 1^ % 3TmR TR ^ ^
^Rcii4cIT ft W 11 " '

(S) "anl^ ^ 5cl^ ^ ̂  f?"
^ ft ̂  W-|? • . "'

V \ir--~:\-.

5. [^Mf^l^go ft ft ^ rot % ftf^ ;3^ .
'  ■ ■ ^ - ' • V -2x7=14

(^) W 4^1^ % i^^rRT ^ I," ^
^i8R 3TRRT

(^) 'I^rrit' ft 1^ 3^ w I?

AlS-^2000/285: Ovef\)



( 4 )

(tt) iwi ^ ̂  (riattiral gift) ^
(cuJiture) ̂  ̂Tcl ^

•  K7:^ ■ .-' •v:-; v ;; " . -■ :

(^) "^! ̂  ̂  it, ^ ̂  ^5n^?"—^

(^) ^ t' "f^r^ ^ ^
3^?f ^ I? '

(^) 1920 io ^ ^ "^^TTRtef

{^) ^Ef5^ ^ "^tcT t?
(^sr) % Hl^jl % ^ W^TT^ %

^ ̂ Pisl'JMehK ^ w W %?

(^) 1^"—^ ̂  ^
^3^ w t? ^ ^ t?

6. PMldi^d i t ̂  T^ 1^ ̂  i^ tcTtor ;
(^) 3(^ ̂  ftew
(T§) f^UI«ff sft^ XToFftf^

(tt) W^dl ^ aif^lTO :

★ ★ ★

10

A1.&—2000/285 3 (Sem-3) HIN MIL

3(Sem-^)EDN

2 0 14

EDUCATION

^ ( Genefi^ )

Full Marks: 80

Time: 3 hovirs .

The figures in the margin indicate full marks
for the questions-

Answer either in English or in Assamese

I, Write True or False

Cr\ i»P(T :

1x10=10

(a) Vedic education followed the principle of
self-discipline.

(b) In Buddhist education, women "enjoyed
equal status with men.

"spfpft ̂

<pfiR51 I

(a) The Charter Act was passed iii the year
1813,

1813 I

A15—48*/294 (J^rn Over )
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(d) For development of primaiy education,
Indian Education Commission stressed

on ̂ payment by resiiilt'.^

Rl^oi I

(e) Simla Education Coiifei^ence was held in
the year 1902.

1^S|5fT 1902 .^ ^3^ 1

(f) Dr. Zakir Hussain was the chairman of
Wardha Education Conference, 1937.

T5o ^ ̂ 1937^ ̂ <0^

^5rr%ti

(9) Article 28 of the Indian Constitution
niakes provision for free and compulsory
primary education.

^  I

W Dr. Mudaliar was the chairman of Indian
Education Commission.

xsRShr ^5n%i i

A15—48*7294 ( Continued )

i 3 )

(i) Janardhana Reddy iCpmmittee : was
formed in the year ol990. ̂

1990.15^^ 91^ "^ V

0) The Assam Elemeiitaiy Education Act
was passed in the year 1926.

^  ■ ■n'
^51% 1925

2, Write very short notes on (any five) : 2x5=10
"5^ u>i<p| 1%^ :

(a) Ciorriculvun of Vedic education ^

Pl*jph , . )

(b) Two centres of Buddhist education

(c) Downward filtration theory

(d) Two recommendations of Gokhale's Bill,
1911

1911 W C9fNC5j^ WK

AIS—48*7294 (Turn Over)
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(e) Two proposals made by Sargent
Committee Report (1944) on primary
education

blC'Sf^ (1944)

<3^^ snsRT

(f) Two aims of xmiversity education
as ' mentioned by Radhaknshnan
Commission

R^I -TSfC^ ^

^ oTO

(g) Two weak points of Kothan Commission

(h) Open University

(i) Two problems of higher education in
Assam

v4>|>ivm ̂  1*1"^ ̂  WHT

3. Write short answers (any four) :

%!IT (1^ CTO1T :

5x4=20

(a) Write on education system of Maktab
and Madrassa.

^50^-snigr^ 1^ I

A15—48*7294 ( Continued )

( s )

(b) Mention the causes of AnglicistrClassicist
controversy,

aibr-art>ivsj i

(c) Mention the recommendations of Hunter
Commission on primary education.

(d) What are the main features of basic
education?

(e) Discuss the proposals made by the
Indian Constitution on 'education of the

weaker sections of people*.

(f) What suggestions were made by Kothari
Commission on structure of education?

R^ CW5 #

A15—48*7294 ( Turn Over )
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(ff) Discuss the proposals made by National
Policy on Education (1986) on primary
education.

(1986)

wi*fra^ ^ I

(h) Explain the Primary Education Act of
Assam, 1926.

1926 I

4. Answer any four firom the foUowing : 10x4=40

N001V0 %?1T;
M  • * T.

(a) Explain the main characteristics of
Buddhist system of education in India.

^1

(b) Discuss the educational activities of
Christian Missionaries in India.

•  W I ^

(c) What were the main recommendations of
Wood's Despatch?

A15—48*/294 (Continued )

{11

(d) Briefly write on Lord Curzon's policy on
higher education.

0^ "5^1^ i^RT I

(e) Mention the* recommendations of Sadler

Commissiqh on university education.

C6V551R "Pl^

(f) What proposals were made by Secondary -
Eklucation Commission on curriculum at
high and higher secondary stages?

1% % ̂Rra»f ̂snsRcisfBei •>

(g) Discuss the main recorhmendations of
Ramamurti Review Committee, 1990.

1990^ »RT5l*Pi^

(h) Trace the development of secondary
education in Assam.

"siT^ijf^ Ph^ Pprr I

★★★

A15^8*/294 3 (Sem-3) EDN
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HISTORY

( General )

Full Marks: filO

Time : 3'hdiirs

The figures in the margin indicate full marks
for'the questions

Answer either in English or in Assamese

Option—I >

[ History of India (1206-1757) ]
ai I

1. Answer the foUowing in one word or in one
sentence : 1x10=10

v55f^ ^ : -

(a) Who wrote the book; Tahqiq-£-Hind?

(b) Who built the city of Tughluqabjad?

(c) Who was the fir^t -.TUrldsh leader to
invade India? ,

i  . * ■ - ■' • " It.

xsrrsRf st'?rsj^ ?

(d) Who established the Khalji dynasty?
?

A15—8000/334 - c (sTum Over)
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(e) Who was been referred in history as

'Prince of Moneyers?

Name the religion introduced by Akbar.

2f55R "^RT •ffsf ?

(g) Who were Afaqis?

^  cm ̂5iT^ ?

(h) What does the term Bhakti' mean?

wi%?

(i)-^ Who was Nur Jahan?

C<PM ?

0) Who was the greatest kiiig'-^of the
Vijayanagar kingdom?

cm ?

2. Answer the following in brief :

^5®!^ 1»r«lT:

(a) Between whom was the First Battle of

Panipat fought?

Name two saints of the Sufi Movement.

(c) Mention any two causes that led to the
decliiie of the Delhi Sultanate.

JcrJ^ ^ ^ ̂ef

2x5=10

A15—8000/334 ( Continued )

( 3 )

(d) Who were the twoj British representatives
of the English Ea!st India Company to
have visited India during the reign of
Jahangir?

^ %«IT' I

(e) Who'Was defeated and by whom in the
Battle of Plassey (175)7)?

.  ̂ (1757) CTO, ̂

3. Answer dny four of the folldwing :

VS01V5 fwiCTFR i^PIT:

5x4=20

(a) Give an account of the life of Raziya.

(b) Write about the southern Indian
conquest of Ala-ud-din Kh^ji.

(c) Write about the principles of the Bhakti
Movement.

v5i^ I

(d) Write about Sher Shah's land revenue
system.

(?^ w ̂ I

(e) What do you know about the causes of
the decline of the Mughal empire?
csn^R w«n:^ 9^ \

A15—8000/334 ( Turn Over )
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(f) What were the eGonomic reforms

introduced by Shivaji?

4. Answer any four of the following : 10x4=40

v!>oiv!) C<Plc*il dIRuH :

(a) Give an account of the literary sources

for the study of Medieval Indisin history.

%T I

(b) Write about the achievements of
Ghiyas-ud-din Balban.

fv!)<>i^voh I

(cj Discuss Muhammad bin Tughluq's lavish
administrative experiments.

(d) Discuss the achievements of Akbar's
reign.

(e) Critically discuss Aurangzeb's religious
policy.

(f) Briefly describe the trade and commerce
under the Mughals.

Csn^H <p|«44 <ilR'8rj4 v<ij^ R?IT I

A15—8000/334 ( Continued )

i 5 )

■.&. Option—IP'

[ History of Assam (1228-1826) ]

1. Answer the following in one word or in one
sentence : 1x10=10

vsc^vs : • ;

(a) From which place ̂ he Ahoms migrated?
OT7 ^'RT

(b) Name the founder of the TCamata
Kingdom'.

>HVS1 ■#5fl'4 ^ I

(c) In which year the 'Battle of Saraighat'
was held?

(RSR ?

(d) Who was the creator of the posts
'Barbarua' and 'Barphuksin' in Ahom
administration? . 1 ,

'WR ^

(e) Who were the 'Sat-Oharia Ahpms?

(f) Who was the author of Hastividyamab?

A15—8000/334 ( Turn Over )
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(g) Who built ICarengighar' in Garhgaon?

(h) What is 'Chaklong'?

?

(i) Who was the author of Jfirtari-Ghosha?

'^voh-CTRT*^ C<PM ?

0) Name one of the famous *Satra' of Assam.

2. Answer the following questions,m brief :

v55i^ siOTg^ ,
2x5=10

(a) Who introduced 'Singari7gharat-utha'
ceremony:and why?

?

(b) Who was known as TDihingia Raja? Why
he assumed the title 'Swarganarayan?

w I^HShn'w' ipi (Tprar ^

(c) Who were the 'Baro-Bhuyaiis?

xsnflsT ?

(d) Who was 'Momai Tafnuli Barbarua?

C<t>H ?

A15—8000/334 ( Continued )

( 7 ̂

(e) Who and why Burmese were invited to ^
invade Assam?

1  ■ » .

<pRRoi ?
1  • I f ,;.' . . * .

Or / ^

What are two premier institutions of
Neo-Vaishnavite religion of Assam?

3. Write short motes on any four of the
following : 5x4=20

v55l^ 14 1»n«IT :

(a) Cidtural contribution of the Kpches
C4H)>i4oi^

(b) Significance of the Battle of Saraighat'

(c) Results and impacts of the 'Moamariya
Rebellion* i r

(d) Position of women in medieval Assamese
society _ ,

^nlk w . i

(e) Role of 'Mantri' Parishad* in- Ahom
administration

■  \

hi®

Onf^sm ■

Treaty of Yandaboo

A15—8000/334 v< ( Turn Over )
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4. Answer any four of the following : 10x4=40

blRUn :

(a) Briefly describe the relation between the
Ahoms and the Koches.

' "'1 . . . . .^ ■

(b) Describe the chief achievements of Ahom

King Rudra Singha.

(c) What were the factors led to the rise of

tiie ^oamariya Rebelliofi in 1769?
1769 ̂  cwRlhn 1% #

(d) Briefly describe the literary contribution
vijof Srimanta Sankardev towards

Assamese literature.

^5p#in >llRvoj^9i^. si%

(e) What were the factors led to the downfall

of 'Ahom dynasty?

^  NI»T ?. .

Describe briefly thle^' Ahom's policy
towards the Frontier ̂Tribes.

Ivpff I . , I .fj
★ ★ ★

(f)

A15—8000/334 3 (Sem-3) HIS

3 (Sem-3) PHL

2 0 14

PHILOSOPHY

( Generkl )

( General Philosophy—I)

Full Marks: 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer as directed : 1x10=10

(a) The term Philosophy* is derived from
Greek words Philos' and 'Sophia*.

( Write True or False )

St^ Philos* 'Sophia*

(b) How many branches are there in
Philosophy?

"spi 1^^ ̂  *1P(T ?

(c) Descartes was the father of modem
Western Philosophy.

( Write Tme or False )

cvjs<pii5<p apwi ^ c^rar ̂  i

A15—8500/335 ( Turn Over)
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(d) Berkeley was an empiricist philosopher.
( Write True or False )

(^ )

(e) Is metaphysics a branch of Philosophy?

(f) Who is the author of the famous book,
Essay Concerning Human Understanding?

af Essay Concerning Human

Understanding ̂  OTT ?

(g) Who is the founder of subjective
idealism?

>5n^5i^ c<pi*i ?

(h) Locke divided the quality into two kinds.

( Write True or False )

®1C<P <pRc^ I

('m )

(i) Name the philosopher who is associated
with 'dialectical, method*.

I

(i) Realism is divided into four kinds.

( Write True or False )

biR 2i<p)^vo I

('m (?Tf^ )
A15-—-8500/335 ( Continued )

i 3 )

2. Define/Answer the following : 2x5=10

v5o1^ IWCTm 1^ :

(a) Metaphysics / ̂sfRRinT

(b) Realism /

(c) Scientific realism /

(d) What is adventitious ideas according to
Descartes?

(e) Primary quality / ^ ̂

3. Answer/Write short notes on (any four) : 5x4=20

1^/^ #n?n ("R c^s|c5?T fiRSi) :
(a) Phfiosophy and Epistemology

tf*N «JhRTii

(b) Esse est perdpi

2f®JW5 ̂

(c) Scope of Philosophy

(d) Characteristics of objective idealism

(e) "Philosophy is the science of all
sciences." Explain the statement.

"TfxR ^=Rsc5n R«hw Rtoi"
I

(f) Characteristics of Naive realism

A15—8500/335 ( Turn Over)
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4. Answer any four of the following : 10x4=40

(a) Discuss the origin of Philosophy. 10

(b) Discuss empiricism as a theory of the
origin of knowledge. 10

«aH-^ ^j^^vsl<||ff "5}V©<llTCy| "©IICciIMI

W I

(c) What are the salient features of scientific

realism? 10

2I«fR ^ ?
(d) Is axiology an important branch of

Philosophy? What kinds of ideals are
prescribed by axiology to human life?

2+8=10

1^9R?T ?

"sro ^ ?

(e) Is Berkeley's idealism subjective or
objective? Discuss. 10

^M<1W ?

o^iccnoii I

ffl Explain and examine the difference
between primary quality and secondary
quality. 10

c^«f 1^ ^iNTT
I

3 (Sem-3) GGY

2 0 14
•  .i •. •

★ ★ ★

A15—8500/335 3 (Sem-3) PHL

GEOGRAPHY

( Generad )

( Human Geography)

Pull Marks: 46

Time : 2 hours ' *

The figures in the margin indicate full marks
for the que'siibns

Answer either in English or in Assamese

1. Answer the following questions : 1x4=4

■  ' . 1 :

(a) Who defines Human Geo^aphy as the
study of changing relationship between
the imresting man and the unstable
earth?

"SW '5ns;i4 ^51^ ""

■  '' •

(b) Who was the propounder of the concept
of neo-determinism?

CTO ?

(c) Who wrote the book, - Human
Geography : A Welfare Approach?

Human Geography : A ^ Welfare
Approach 3^^ PiRRH ?

A15—^3500/337 (TumOver )
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(d) Where is the habitat of the Beduins?

2. Answer any three questions from the
following :

(a) Define Human Geography.

%T I

(b) What is possibilism?

1% ?

2x3=6

(c) What do you mean by rur^ settlement?
sm 9

(d) What do you mean by man-land ratio?

W?

3. Write short notes on ^y two of the
following: 5x2=10

^5^ CTOIT ̂ "5^ c5m :

(a) Deforestation 1

(b) Urban settlement

'  'i ^

(c) Population explosion

( 3 )

4. Answer any two questions from the
following :

c<pIc-<I snJK "fffRIT:

(a) What are the approaches in studying
Human Geography? Discuss. 10

1% ? ^ I

(b) What do you mean by environmental
degradation? Write the impact of man in
environmental degradation. 4+6=10

(c) What is population migration? Discuss
the causes and effects of population
migration. 2+4+4= 10

^-20^ 1%? ̂ -20^ ^ ipsrPR
^icoilHI W I

A15—3500/337 ( Continued ) A15—3500/337 3 (Sem-3) GGY
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ECONOMICS

( General )

( Money, Banking and Finance )

Full Marks: 80

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions :

^55^ 1»n?IT :

1x10=10

(a) What is capital market?

(b) What do you mean by ̂ancial system?

(c) When was the Reserve Bank of India
nationalized?

A15—11*7295 ( Turn Over)
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(d) Give one example of a nationalized
commercial bank.

(e) What do you mean by bank deposit?

^? ■ .

(f) Which bank has the monopoly right to
print new currency iii India?

\5Hv5^ 7}^ v£J<pC&fDij|

(g) Mention one component of financial
market.

(h) Mention one phase of business cycle.

^£r5T -ppfm i •

(i) 'Trade cycle i ds a .^urejy ; (monetary
phenomenon." Who said this statement?

^ ̂ ^ 'iRvjUni i"

■  ̂ ^

(j) Mention one assumpHon of Fisherian
equation of . exchange

A15^1d,*;/295 li^<( Continued )

I! 3 );

2. Answer the followiilg questions

^5^ RnT :

2x5=il0

(a) Mention two methods of credit control
adopted by the Reserve Bank of India.

xorSR R«nv»

(b) Write two causes of business ' dycle.
^ ' ' L"'..

153H ̂  Rp(T I

(c) Point out two features of capital market.

"r-' r-

(d) What is bank rate?

1% ?

(e) Why is the Reserve Bank of Inciia called
the lender of last resort?

v5H^ R«sfiv» R^ 'c*i^ ^®Pfiv5i'

?

A15—11V295 ' C (.,Turn Over )
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3. Answer any four of the following questions :

5x4=20

c^T<?iT :

(a) Explain briefly the main features of
money market.

mm ̂  i

(b) Briefly discuss the differences between
money market and capital market.

^ I

(c) Point out the limitations of Fisherian
equation of exchange.

(d) Briefly explain the differences between
central bank and commercial bank.

I

A15—11*7295 (Continued)

( 5 )

(e) Discuss the various selective credit
control measures of the central bank.

^ITPITI ̂  I

(f) What are the features of a business
cycle?

(g) Write a short note on stock market.
■  • 't

^  f^PfT 1

4. Answer any/our of the following questions :
10x4=40

1^ C^HTTT lilRSt snjR "^PIT :

(a) Explain the various functions of the
central bank.

c^fl^ 1^1%^ <i»i^(:<ii<i ^TNiT w I

(b) Discuss the similarities and dissimi
larities between cash transaction and

cash balance approaches to the quantity
theory of money.

^  cwR ̂  ̂  'sn^f

-nil"]] 4TNTT I

A15—11V295 ( Turn Over )
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(c) Explain the functions and components of
a financial system.

w 1

(h) Explain the Cambridge version of
quantity theory of money.

vo^Ci^l ̂ TNIT I

(d) Explain the credit' creation process of
commercial banks.

m  aQHiidiJi mm ̂  i

(e) Explain the objectives of monetary policy
in a developing country like India.

TO (W5 cl'iWC<JH

(f) Critically explain the monetary theory of
trade cycle.

"PTO v5^ «if6T. JiwicoiiHN^ mm

mmom]

(g) Discuss the assets ̂ d Uabilities of a
commercial bank.

(?RT-^<TOi^ WTTM TOl 1
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ENVIRONMENTAL STUDIES—I

Full Marks : 40

Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer all questions

Answer either in English or in Assamese

1. (a) Express in one word/term : 1x4=4

(i) The book where the list of
endangered species of plants and
animals are included

v5Ti^ ^

(ii) The technique of removal of
impurities from low-grade ores by
suitable bacteria
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(iii) The process of increase in the
concentration of a toxic substance

passing from one trophic level to the
next higher trophic level in an
ecosystem

IRTOI ̂  2i&?rT

(iu) The inherent property of all living
systems to resist change

^ ^

(b) Illustrate the following terms (any three) :
2x3=6

W (ft c^icmI K>Piul) :

(i) Eutrofication

(ti) Evergreen forest

(iii) Renewable energy

(iv) In situ conservation

2. Write about the importance of environmental
studies. Describe the needs of public
awareness for conservation of the

environment. 5+5=10

^iftOT ft̂  'fftOT

^5PIC6^55Rv51^ <RT I

Or / WW
I  •

Describe the structure of an aquatic
ecosystem. Write briefly on the ecological
services proyided by a wetland ecosystem.

6+4=10

^  wm w i ft̂ i

ft̂ W "5^
>5iTC®fTW 4^^! I

3. (a) What is biodiversity? What are the major
threats to biodiversity? 1+4=5

wBvfjvsi 1% ? 2ti% TO

Or / ̂smr

Write briefly about different projects
implemented in India for conservation of
certain important animals. 5

ftp^ I
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(b) Discuss briefly on the mineral resources
of N-E India.

Or /

Discuss the role of an individual in

conservation of natural resources.

2f!ff^
^icqio'ii I

4. Write short notes on any two from the
foUowing ; 5x2-10

"R cwn c&i^ Rt^tt :

(a) Deforestation and its consequences

^

(b) Ecological succession

(c) Man and animal conflict

★ ★ ★
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